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Seating Arrangement And Puzzle Questions
Overview

Seating Arrangement And Puzzle Questions have a good weightage in the Banking Exam and the type of question asked
in Banking exam is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and
they have tried to elaborate the concept used in Seating Arrangement And Puzzle Questions.

Seating Arrangement And Puzzle Questions

Directions: Study the following statement carefully and choose the right answer.

Question

Statement: Businessmen in Mysuru are keeping their fingers crossed. On the full impact of the revision of goods and
services tax (GST) rates on products announced recently by the GST council. Assumption: 1. Businessmen were
unhappy after the implementation of GST. 2. Sales and purchases decreased after the implementation of GST.

Difficulty : Moderate Average Time: 46 Seconds

Options :
1. If only assumption I is implicit

2. If only assumption Il is implicit
3. If either | or Il is implicit
4. If neither | nor Il is implicit

5. If both | or Il is implicit

Solution

The correct answer is Option 4 i.e. If neither I nor Il is implicit

Understanding
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Statement: Businessmen in Mysuru are
keeping their fingers crossed. On the full
impact of the revision of goods and services
tax (GST) rates on products announced
recently by the GST council.

Assumptions:

1. Businessmen were unhappy after the
implementation of GST. Not Implicit (As it is
mentioned that businessmen are keeping their
fingers crossed which means they are
expecting something positive. So they are not

unhappy.)

2. Sales and purchases decreased after the
implementation of GST. Not Implicit (Nothing
is discussed about sales and purchases)

Hence, the correct answer is If neither | nor
Il'is implicit.
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